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‘write out every term in the series
hence find the value of the sum.
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| Find the first four terms of the following recurrence relationships.
@u,..‘-u.-d.u‘-l l‘.u”"u's'"l=9

| (A)ursr =20+ 1, 1=2

|
(a1 =P - 1w =2

‘Suggest possible recurrence relationships for the following sequences (Remember to state the

- first term)) _
‘ gzo, 17,14, 11, ... 1,2,4.8;...
s 2y e 1 T 83.7.15.31....
. €90,1,2,5,2, ... ©26,14,8,5,35, ...
By writing down the first four terms or otherwise, find the recurrence formula that defines the
following sequences:
;@:;-bl-l @u.=3n+2 u,=n+2

3 @m.=n2 @u.=3"—1

iAsequmisdeﬁnedforna 1 by the recurrence relation
( Unyy=ptiy+qu; =2
‘Given that u; = ~1 and u; = 1, find the values of p and g.
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